2025-07-01MNHK=2—XDFE=HE (ZV)  v1.3.2
EERSTDAREIVWHE WHEZ DR T S5HHE
= LLA WEHIHENSD & earthquake
B DH BOBNERBIL tsunami
STiE| Fum< AN ETBHDEZ plan
e B gu:zccoto-c%m% damage

Eix. REVWENPEVLWERD DD £5
BIBFRTIE. B XXRICLED.
BT Z Do LK LD L&LS EEX
TW&EY,

The phrase '&% D £ 57" is the potential form of '#% %' (to exist), indicating a
possibility or likelihood. 'L &5 £& X TL EJ"' means 'is considering doing',
showing intention to take actions. The structure 'L D"'in 'L 7 D" indicates

multiple actions, such as making buildings strong and improving evacuation

centers.
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The phrase 'BEE h' KEF < EAYD F L 7' means 'prices have increased
significantly'. Here, ' EAYD & L 7' is the past form of ' =H'3' (to rise),
indicating a completed action. '"$IZ' (especially) emphasizes that this increase
is notable in certain areas, while 'T' indicates the specific locations where this

increase occurred.
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The phrase 'R &% LV T' means 'without resting'. U\ 7= D ' indicates 'there are
some people' performing the action, while '% 9 F7=D' shows that the number
of climbers is excessive, leading to problems. The structure 'R&BIC % > T

W& 9" means 'has become a problem’, suggesting that these issues are

ongoing.
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The phrase 'T& £t A TLT: isthe past negative form of '"TE %' (to be able
to), indicating that they were not able to work due to reasons mentioned
('H#1ZE' and 'ARR'). The use of ' £ D' suggests that it was not much work that

could be done, emphasizing the extent of the inability to work.
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